

ISSN: 2159-743X

North American Potatoes

Released December 20, 2024, by the National Agricultural Statistics Service (NASS), Agricultural Statistics Board, United States Department of Agriculture (USDA).

Combined United States and Canadian Potato Production Down 4 Percent From 2023

This publication is the result of a joint effort by Servicio de Información Agroalimentaria y Pesquera (SIAP), Statistics Canada, and USDA's National Agricultural Statistics Service (NASS) to publish potato production for three countries in one report. All data contained in this report comes from previously published data.

The 2024 potato production for the United States and Canada combined is estimated at 545 million cwt, down 4 percent from the 2023 estimate. The United States potato production is estimated at 418 million cwt, down 5 percent from last year. Canada's potato growers harvested 127 million cwt, up slightly from 2023.

The 2023 potato production for the United States, Canada, and Mexico combined is 611 million cwt, up 8 percent from the 2022 estimate. The United States 2023 potato production is estimated at 440 million cwt, up 9 percent from 2022. Canada's potato growers harvested 127 million cwt during 2023, up 2 percent from 2022. Mexico's potato growers harvested 43.8 million cwt during 2023, up 6 percent from 2022.



Potato Production - North America

1/ Beginning in 2019, total includes all potatoes. Previous years were fall potato totals.

Potato Area Planted, Harvested, Yield, Total Production, Utilized Production, Price, and Farm Value -United States: 2015-2024

[Beginning in 2019, total includes all potatoes. Previous years were fall potato totals. Blank cells indicate estimation period has not yet begun]

Ar Planted	ea Harvested	Yield	Total production	Utilized production ¹	Price	Value of sales ²
(1,000 acres)	(1,000 acres)	(cwt)	(1,000 cwt)	(1,000 cwt)	(dollars)	(1,000 dollars)
950.5	943.8	434	409,281	383,582	8.28	3,132,640
935.8	921.6	448	412,688	386,688	8.46	3,231,305
919.7	914.7	445	406,800	382,136	8.28	3,135,521
914.7	906.6	457	414,499	389,807	8.48	3,269,884
960.3	934.3	453	423,189	398,232	9.93	3,921,625
919.5	911.6	460	419,781	396,369	9.30	3,649,788
939.0	929.6	444	412,639	389,097	10.20	3,939,588
923.0	918.2	438	402,054	379,922	12.90	4,837,261
966.0	961.1	458	440,132	412,112	12.30	5,003,241
928.0	923.1	453	417,848			
	Planted (1,000 acres) 950.5 935.8 919.7 914.7 960.3 919.5 939.0 923.0 966.0	(1,000 acres) (1,000 acres) 950.5 943.8 935.8 921.6 919.7 914.7 960.3 934.3 919.5 911.6 939.0 929.6 923.0 918.2 966.0 961.1	Planted Harvested Yield (1,000 acres) (1,000 acres) (cwt) 950.5 943.8 434 935.8 921.6 448 919.7 914.7 445 914.7 906.6 457 960.3 934.3 453 919.5 911.6 460 939.0 929.6 444 923.0 918.2 438 966.0 961.1 458	Planted Harvested Yield production (1,000 acres) (1,000 acres) (cwt) (1,000 cwt) 950.5 943.8 434 409,281 935.8 921.6 448 412,688 919.7 914.7 445 406,800 914.7 906.6 457 414,499 960.3 934.3 453 423,189 919.5 911.6 460 419,781 939.0 929.6 444 412,639 923.0 918.2 438 402,054 966.0 961.1 458 440,132	Planted Harvested Yield rotation production 1 (1,000 acres) (1,000 acres) (cwt) (1,000 cwt) (1,000 cwt) 950.5 943.8 434 409,281 383,582 935.8 921.6 448 412,688 386,688 919.7 914.7 445 406,800 382,136 914.7 906.6 457 414,499 389,807 960.3 934.3 453 423,189 398,232 919.5 911.6 460 419,781 396,369 939.0 929.6 444 412,639 389,097 923.0 918.2 438 402,054 379,922 966.0 961.1 458 440,132 412,112	Planted Harvested Yield rotation production 1 Price (1,000 acres) (1,000 acres) (cwt) (1,000 cwt) (1,000 cwt) (dollars) 950.5 943.8 434 409,281 383,582 8.28 935.8 921.6 448 412,688 386,688 8.46 919.7 914.7 445 406,800 382,136 8.28 914.7 906.6 457 414,499 389,807 8.48 960.3 934.3 453 423,189 398,232 9.93 919.5 911.6 460 419,781 396,369 9.30 939.0 929.6 444 412,639 389,097 10.20 923.0 918.2 438 402,054 379,922 12.90 966.0 961.1 458 440,132 412,112 12.30

¹ Includes potatoes sold and used on farm where grown for human consumption, seed, and livestock feed.

² Includes value of potatoes sold.

Source: National Agricultural Statistics Service.

Potato Area Planted, Harvested, Yield, Total Production, Utilized Production, Price, and Farm Value -Canada: 2015-2024

Crop year	Area		Yield	Total	Utilized	Price ²	Farm
	Planted	Harvested	i ielu	production	production ¹	THEE	value ^{2 3}
	(1,000 acres)	(1,000 acres)	(cwt)	(1,000 cwt)	(1,000 cwt)	(dollars)	(1,000 dollars)
2015	345.3	339.9	308.6	104,907	(NA)	(NA)	(NA)
2016	346.4	340.6	308.9	105,224	(NA)	(NA)	(NA)
2017	344.0	340.1	313.7	106,673	(NA)	(NA)	(NA)
2018	348.4	330.5	310.0	102,447	(NA)	(NA)	(NA)
2019	362.4	341.9	308.9	105,589	(NA)	(NA)	(NA)
2020	360.9	355.8	292.5	104,066	(NA)	(NA)	(NA)
2021	384.3	380.0	318.7	121,111	(NA)	(NA)	(NA)
2022	385.1	380.0	325.1	123,520	(NA)	(NA)	(NA)
2023	392.7	381.7	331.7	126,593	(NA)	(NA)	(NA)
2024	391.4	383.7	330.9	126,966	(NA)	(NA)	(NA)

(NA) Not available. ¹ Includes potatoes sold and used on farm where grown for human consumption, seed, and livestock feed.

² Converted to United States dollars.

³ Includes value of potatoes sold and used on farm where grown for human consumption, seed, and livestock feed. Source: Agriculture Division, Statistics Canada

Potato Area Planted, Harvested, Yield, Total Production, Utilized Production, Price, and Farm Value – Mexico: 2015-2024

[Blank cells indicate estimation period has not yet begun]

Crop year	Area		Yield	Total	Utilized	Price ¹	Value of
	Planted	Harvested		production	production	1 1100	sales ¹
	(1,000 acres)	(1,000 acres)	(cwt)	(1,000 cwt)	(1,000 cwt)	(dollars)	(1,000 dollars)
2015	158.2	157.2	242.2	38,081	(NA)	19.31	735,174
2016	159.3	159.0	249.2	39,612	(NA)	14.64	579,793
2017	146.5	146.4	258.3	37,820	(NA)	15.78	596,952
2018	149.1	149.0	266.7	39,740	(NA)	18.55	737,069
2019	147.6	144.4	272.3	39,328	(NA)	18.48	726,720
2020	152.0	150.4	285.0	42,855	(NA)	16.38	701,870
2021	151.5	151.5	283.5	42,940	(NA)	18.81	807,546
2022	148.5	148.5	278.9	41,424	(NA)	19.40	803,786
2023	154.3	153.5	285.2	43,787	(NA)	22.44	982,713
2024							

(NA) Not available.

Converted to United States dollars.

Source: Servicio de Información Agroalimentaria y Pesquera (SIAP).

Potato Area Planted and Harvested, Yield, Total Production, Utilized Production, Price, and Farm Value – North America: 2015-2024

[Beginning in 2019, total includes all potatoes for the United States, Canada and Mexico. Previous years were fall potato totals only for the United States and all potatoes for Canada and Mexico. Blank cells indicate estimation period has not yet begun]

Crop year	Area		Yield	Total	Utilized	Price	Value of
	Planted	Harvested		production	production		sales
	(1,000 acres)	(1,000 acres)	(cwt)	(1,000 cwt)	(1,000 cwt)	(dollars)	(1,000 dollars)
2015	1,454.0	1,440.9	383.3	552,269	(NA)	(NA)	(NA)
2016	1,441.5	1,421.2	392.3	557,524	(NA)	(NA)	(NA)
2017	1,410.2	1,401.2	393.4	551,293	(NA)	(NA)	(NA)
2018	1,412.2	1,386.1	401.6	556,686	(NA)	(NA)	(NA)
2019	1,470.3	1,420.6	399.9	568,106	(NA)	(NA)	(NA)
2020	1,432.4	1,417.8	399.7	566,702	(NA)	(NA)	(NA)
2021	1,474.8	1,461.1	394.7	576,690	(NA)	(NA)	(NA)
2022	1,456.6	1,446.7	391.9	566,998	(NA)	(NA)	(NA)
2023	1,513.0	1,496.3	408.0	610,512	(NA)	(NA)	(NA)
2024							

(NA) Not available.

Source: National Agricultural Statistics Service; Agriculture Division, Statistics Canada and Servicio de Información Agroalimentaria y Pesquera (SIAP).

Information Contacts

Listed below are the commodity statisticians in the Crops Branch of the National Agricultural Statistics Service to contact for additional information. E-mail inquiries may be sent to nass@usda.gov

Patrick Boyle, Chief, Crops Branch	(202) 720-2127
Fleming Gibson, Head, Fruits, Vegetables and Special Crops Section	(202) 720-2127
Deonne Holiday – Almonds, Carrots, Coffee, Cranberries, Garlic, Onions,	
Plums, Prunes, Tobacco	(202) 720-4288
Bret Holliman – Apricots, Chickpeas, Nectarines, Peaches, Snap Beans,	
Sweet Corn, Tomatoes	(202) 720-7235
Robert Little – Blueberries, Cabbage, Dry Edible Beans, Kale, Lettuce,	
Macadamia, Maple Syrup, Pears, Raspberries, Spinach	(202) 720-3250
Krishna Rizal – Artichokes, Asparagus, Celery, Grapefruit, Kiwifruit, Lemons,	
Mandarins and tangerines, Mint, Mushrooms, Olives, Oranges, Pistachios	(202) 720-5412
Chris Singh – Apples, Cucumbers, Hazelnuts, Potatoes, Pumpkins,	
Squash, Strawberries, Sugarbeets, Sugarcane, Sweet Potatoes	(202) 720-4285
Antonio Torres – Beets, Cantaloupes, Dry Edible Peas, Grapes, Green Peas,	
Honeydews, Lentils, Sweet Cherries, Tart Cherries, Walnuts, Watermelons	(202) 720-2157
Chris Wallace – Avocados, Bell Peppers, Broccoli, Cauliflower,	() / / /
Chile Peppers, Dates, Floriculture, Hops, Papayas, Pecans	(202) 720-4215
Cinie reppers, Dues, rioneuture, riops, rapayas, recans	(202) 720-4215

Access to NASS Reports

For your convenience, you may access NASS reports and products the following ways:

- All reports are available electronically, at no cost, on the NASS web site: <u>www.nass.usda.gov.</u>
- Both national and state specific reports are available via a free e-mail subscription. To set-up this free subscription, visit <u>www.nass.usda.gov</u> and click on "National" or "State" in upper right corner above "search" box to create an account and select the reports you would like to receive.
- Cornell's Mann Library has launched a new website housing NASS's and other agency's archived reports. The new website, <u>https://usda.library.cornell.edu</u>. All email subscriptions containing reports will be sent from the new website, <u>https://usda.library.cornell.edu</u>. To continue receiving the reports via e-mail, you will have to go to the new website, create a new account and re-subscribe to the reports. If you need instructions to set up an account or subscribe, they are located at: <u>https://usda.library.cornell.edu/help</u>. You should whitelist <u>notifications@usda-esmis.library.cornell.edu</u> in your email client to avoid the emails going into spam/junk folders.

For more information on NASS surveys and reports, call the NASS Agricultural Statistics Hotline at (800) 727-9540, 7:30 a.m. to 4:00 p.m. ET, or e-mail: <u>nass@usda.gov</u>.

The U.S. Department of Agriculture (USDA) prohibits discrimination against its customers, employees, and applicants for employment on the basis of race, color, national origin, age, disability, sex, gender identity, religion, reprisal, and where applicable, political beliefs, marital status, familial or parental status, sexual orientation, or all or part of an individual's income is derived from any public assistance program, or protected genetic information in employment or in any program or activity conducted or funded by the Department. (Not all prohibited bases will apply to all programs and/or employment activities.)

If you wish to file a Civil Rights program complaint of discrimination, complete the <u>USDA Program Discrimination</u> <u>Complaint Form</u> (PDF), found online at <u>www.ascr.usda.gov/filing-program-discrimination-complaint-usda-customer</u>, or at any USDA office, or call (866) 632-9992 to request the form. You may also write a letter containing all of the information requested in the form. Send your completed complaint form or letter to us by mail at U.S. Department of Agriculture, Director, Office of Adjudication, 1400 Independence Avenue, S.W., Washington, D.C. 20250-9410, by fax (202) 690-7442 or email at <u>program.intake@usda.gov</u>.